Efficiency vs P,

T
9
ol

o
2045
2y
c 04
o
o
2035
(]
0.3
0.25]
0.2
0.15]
0.1
0.05]
9 ‘G: L1111
g o
1.55
]é;---.ﬁ
10"
—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom
= 0.5 T T
o F E :
20.45F - eebee et farareaniaeesnan e
2 E : :
@ 04:— """" Ty
20,35 e eberreea e I T
? 035_#{1 ;*# ...... “+++* ....... ##+3 .......
K LTI 4 :
0.25F------* *#,Wﬂ. + ..... + H.'ﬂ#
E R b AT b
0.2F -5+ H‘""ﬂ'iﬂ" +* """ :'1'1','1.""
E ‘ 4" : ¥y :
015 -+ hee gt L AU I
E Poow o y
0-1-_’ """ prorTreraTTTTTTTT A A
S RESTs S S S s
:q i i i i : I3
el F
T
o

9-0.5:

Ratio




	Contents
	Page 1


